P-II (1+1+1) G/ 21 (N)
2021
CHEMISTRY (General)
Paper Code: V-A&B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

* Write Subject Name and Code. Registration number, Session and Rall
number in the space provided on the Answer Scnpt.

Example : Such 35 tor Paper IIFA (MCQ) and III-B (Descripgtive}
Subject Code : |M|A&[B

Subject Name :

* Candidates are required to attemipt all questions (MCQ). Below each
question, four alternatives are given [ie. (A) (B) (Ch in)}f Only one
of these alternatives s 'CORRECT answer. The candidate has to write
the Correct Alternative [Le. (AY(B)/(C)/(D)] against each Question Neo.
in the Answer Sonipt.

Example —If alternative A of 1 is correct, then write :
1. — A

* There is fo negative marking [or wrong answer
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Paper Code: V- A
Full Marks : 20 Time : Tharty Minutes
Choose the comrect answet
Each quastion camies | mark
1. Which of the followme & not a classification of drugs 7

(A) Based on size

(B) Based on chemucal struciure

(€) Based on druz action

(D) Based on tarzer

B

(A) AETST =99 o0 T
(B) TFEeE sow e Tviw BlE =

(€) egm= s 29 BE ==

D) T=mms =vT TE T

Pa

Which one of the followinz polvmiers 15 prepared by condensation
polvmerization ?

(A) Teflon

(B] Rubber

(C) Stywene

(D) Nylon-6,6

(A) Teflon
(B) Rubber
(€) Styrene

(D) Nylon-6,6
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Which ons 15 not input device 15 compater 7
(A) Mouse
(B) Key board
(C) Pnnter
(D) Nene of these
(A) ===
(B) =
(C) Prsm=
(D) == 78
4 Whch of the following tells the amount of fre= ity amids present m fat or o1l 7
(A) Acid number
(B) Iothne mumber
(C) Sapomficanon mmmber
(D) Reschert-Meiss] number
4 TET T W WG A (T W TR EY IE S0 Wine &5 A
T =
(A) =mE 3
) == I
(C) FAT=an 7=
(D) Reicher-Meiss] T

s
_\‘ﬁ
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3
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Azolls = used 35 3 bhiofemblizer as 1t possesses —

(A) Humus m laros guanties
(B) Rinzobnun

(C) Mycomhiza

(D) Cvancbactenia

EEjl-:—5 lil -_"_‘r'a -‘:ﬂ? -i?..r'ﬂ_‘:: W‘: "_,_‘_1]' ﬁﬁﬂ _‘T,-.i-—_f —_!-Hﬁ_

(A) o= #TH == T 5w ST A
(B) SRI==~

(C) TR

(D) FECAORF =8

(A) Arunficial swesteners
(B) Tranguhzer

(C) Amthistamine

(D) Ant-fanlity drug

(A) T3 wgE oy

(B) ==1 Siawrm &=¢

(C) s==% & (Antthistamine)
(D) =1 T =
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7. At normal ambéent temperature and atmosphene pressurs, m winch form 19G
1=:0btaned 7

(A) Salid
(B) Gassous
(€) Liquid
(D) Salidliguid
7. TS B1Y & TR e el ATeR AW
(A) =&=
(B) =o7aw
(€) ==m
(D) Figw—===1
8. 1= 2 sutable mdicator for the ttraton of 2 strong aoid 2nd
2 week alkali
(A} Methvl orange -
(B) Phenolphthalem
(€) Litmus sohition
(D) Untversal mdecator

=y

8. Tig TTAT §9% VAW BE-AT T RIS SET WO o
|

(4) TeEs wme

(B) —F=Trd==

(C) s =+t

':D] F-."a'."glﬁ :'-,I_#;ﬁ
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9 At equibibrum the total Gibb’s fiee enersy for all phases 15—
(A) Mazmmm
(B) Minmmam
(C) Infity
(D) Zero

Q. T WIE T W T 0 R e Te—
(A) 7=5® @™
(B) 7= E 79
(C) ==
(D) *m

10. Scolvent sxtraction 15 more effectnve when the extraction is tepeated with —
(A) Extra sofvent
(B) Large soivent
(C) Small sohwem
(D) No wlvent

10 T TERE T ER TS| 5E TR ewe O e o 5 —
(A) =TEFE TR T
(B) =7 == o4
(€)== = 75
(D) =W == =
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11, Which one 15 amonic detergent ?
(A) Sodium stearate
(B) Sodum eyl sulphate
(€) Cetyl mmisthy] ammonmim bromide
(D) Glyearyl oleae

(A) covrzema Toumas
(C) Cetyl TRRUES TIWwEW @Wes
(D) Tizw <han

12. Tinctore of wodme 15—
(A) Water solution of T,
{B) 1, present i water solution of KI
(€) L present in mixmre of water alcohol

(D] Water solufion of K1
12. Tinctire of sodine =0 —
(A) =TAf==-03 =5 ==
(B) FoEW TIEERS G7 =7 g 00T WAen 95 =91E =97
(€) =v 9= T et TR s
(D) #ieww =EEEs 99 == Z99
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13 Which one of the follovang are metation indicator 7
(A) Methy! rad
(B) Starch
(C) Diphenylamme
(D) Enchrome Black T
13. FrE WG e v P
(A) oo oo
(B) +57F
(C) Dipherniamine
(D) EBT (Enichroms Black T)
14, Whuch one of the foliowing 15 Producer zas 7
(A) CO=N,
(B) COs+H,
(€) CO+H,
(B) €CO-N,

14, SToa TRy o STEeEE
(A} CO-N,
(B} CO,~H,
(€) COTH,
(D) CO=N,
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5. T vtE TR e skewed TR

Fof 3 negatively skewed distrbition with 3 single mode —

(A) Mean=Median=Node
(B) Mean <median < mode
(C) Mean > madian > mods
(D) Nene of these

Lt

(A) T5%F = W4l = FE4ET T
(B) s6= <75wl « Ti4iES W
(C) =& >l > FIREE T

(D) ==ForE e

Changs m phase from solid 1o vaponr —

(A) Meltns
(B) Boidme
(C) Evaporaton
(D) Sublmishon

3'5 T TR ‘_'4.“.].%-’ e F --'“:...-f' ?-".?"—

(A) ==

(B) o
(C) T=i===
(D) Telorsa
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17. A computer language that 1& wirtten m binary codes only 15—
(A} Machine lanmage
B)c
() c2
(D) Pascal
17. BEmr o B M SEes T o —
(A) o m T
(B) C
(C) c2
(D) 7T
18, Wluch of the followine 15 used a5 a food preservate 7
(A) Fomue acyl
(B} Acetic acid
(€) Benroic acd

(D) Cmnarme acsd

18, 58 =y U RIS SEET 5E ¢
(A) === mitne
(B) =nFiee =iE
(C) E=is e
(D) Gt =ss
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19. A fuel 15 3 combustible substance confaining 25 major consbtute 15—
(A} Nrrogen
(B) Oxyzen
(C) Carben
(D) Eydrogen
19. i =0 o wovEsy Sws T WY Se S S YT —
(A) TR
B) ==
(C) ===

(D) TaL =

20. The calonfic value of 1PG 15—
(A) 34800 kealim?
(B) 84000 keal'm®
(€) 27800 kealm?
(D] 29000 kealim?

30 SHAET A e T 2e—
(A) 34800 kealm®
(B 340680 bealm®

(C) 27800 kealm®
(D) 29000 kecal m®
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P-II{1+1+1) G/ 21 (N)
2021
CHEMISTRY (General)
Paper Code : V-B
[New Syllabus]

Full Marks - 40 Time : Two Hours Thiety Mmnites
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[

et

The figures in the margin indicaze full mark

Group - A
Answer any fires guestions - 10=3=30
(8} What are sulphenamides  Can they be used in the medicine azamst *Coca
(b} What 15 meant by “promient™ 7
(c) Wnte down the preparation and uses of Paracetamol and Quinme

324D 542

¥

(8} How LPG 15 obiainsd from natural pas ? Elucidate vour ansiver wath a
neat sketch

(b} What are the advantaoes of zaseous fuel 7

(c) What do you mean by substituted natural gas (SNG) 7 Vg e
{2) What type of chemical substance 15 fat and o 7

(b} Dascuss bnefly the: preparation of pobrethens 7

(c) What is poseelam ? Name the raw materials required for its manufacture
(d) What do you mean by glazng 7 23122
{a) Dehne galvamzanon and mettion all stages of thus procsss with surtable:

deagram.
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(b) What 5 latex 7 Mention 1fs mam constitpents.
(¢} Defitie degree of pelymenzation.
(d) What is Zeizler eatalvst and why it usad ? 3=3=200

(2} What are DDT and BHC 7 Why DDT s banned 7
(b) Wite down the menamer of PVC 7 How polyurethane 15 prepared 7

White short notes (any four) : 4.5%4
(2) Szponfication

(b) Solar ensrzy
(c) Themmoplastic and thermoesemne plasnc.
(d) Superphosphate
(&) Balythene
(£} Bio-gas.
Grnnp -B
Answer any one from the followme :

{2} Find out mean, median and mode of the followmns data 101111,

232 12 03,

(b) How can vou calailate the amount of F&& i a oiven soliution using
dichromatornetry” Explam with proper reactions:

(c) What are the mput and cutpm devices of 2 computer 2 |.5+1-1 552
(3) Stateé and sxplan Heniry's Law?

(k) Witte down Nerest distnbution low and it Dimitation

(c) What do you mean by precision and accuracy ?

{d) What 15 azeotrome mixture ? 32
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qARER
fami -
= e Testio amwe S5 We | 10x3=30
(2) FeTEREE ¥ 95 T R T =aE Felm o T
(k) “Frsmrs” ==rT = =9 §

(c) 2OFEFone 5 2w g a3 e & 352525:23

(a) BT 407 XTF LPG T=mm dem o =t o 58 Tew =de =
(b) STTAE TR weEE R HRaE ¢

—

LE:.'I' ﬂ~q:-h_='.';‘=l."‘_-‘-]-.§‘-h,': wGieie: a0 rS}\TG;l SELE = g e F3-1-13

() BF & 5 = =m T5E T T ¢
(b) #iwidy o7 227 wied By wie)

(c) = 1 g7 TETEF T UTHIEAE STEREEE W o |

R
@) g ® o ¢ 223122
(a) STTETEWIEIENE S FEE WE T SUE SIEE AW HUEE =ne wE |
(b) TITos = ¢ Som oW AT ET = w9

(c) s T = &9 2

) e T T O O S TS TS T ¢ 3=3-242

(2) DDT & BHC 4% it #iw 7 t DDT 45 577 9% =0 90= 0 |

(b} PVC.-57 Tmws S5y o | Sieseayw-93 2 & 35 T |

(e} “Water gas™ Tos F @5 £ (223 {1-3)2

foge 15 gl lo



6. FirEd T R (2 fFw BIam)

(a) T

ket
Ly
i
s

(b) ChTE=ITE

(¢) W= gov
(d) F%F T
(e) #fwrew

(0 =EETR

= -

7. (a) T e o, e -ew wegnlEe ww ew w= 10, 11, 1L
12,12, 13, 13

€ FETTEm IS TSR R ET 15111590

3 (a) e FEL 9T o9 IR T
(o) S = s T T =
(d) =g e T A 332123
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